DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11PCM14 | JEE PRACTICE QUESTIONS | ==X
(2023-24) (TEST-14) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. 1g of water of Volume lcm?® at 100°c, is
converted into steam at some temperature,
under normal atmospheric pressure (1x10°Pa).
The volume of steam formed equals 1671
cm?. If the specific latent heat of vaporisation
of water is 2256 J/g. The change in internal
energy is

A)2256 ] B) 2423
C)2089J D) 167J
& TS T 6007 a6l L0 6vor L6V WSS

MM Qeuliuplemevuiley, 100°C-60 1 Q&F.LS°
LigpLoeoflev 2 6Tem 1 g Bmeorgl Brmelluwins
rHoliUG&mg. 2 @meurer Hrmellulleor
LI@HLO6T 1671 Q&L &G FLOWMGLWD WDMHMILD
Briler opealwmgseder 2 6TEBHenm GeuLiLiLD
2256 J/g eTenflev & aLmM6L WmmiLIm(h)

A) 22561 B) 2423 1]

C)20891] D) 1671)

2. A refrigerator works between 4°C and 30°C.
It is required to remove 600 calories of heat
every second in order to keep the temperature
of the refrigerated space constant. The power
required 1s [Take 1 cal =4.2 J)

A)236.5 W

B) 2365 W

C)2.365W
D) 23.65 W
4°C wmomin  30C-&& QemLCW  6@H
GeflJomgeorL QULLg Geuemev

QEWRMmE. GefleplLUU@L GL&SH 6T
Qeuliuplemevenw LMl UTE: emellLSM &
@8 @aIQaTm NermydHEGl 600 &G
QaullLgems HEs  Geuetor(hld  6Tevfley
GxemeauliLi(hD Hmer (1 &8eurifl = 4.2 ))

A)236.5 W
B) 2365 W
C)2.365W
D) 23.65 W

3. A thermodynamical process is shown in fig
with P, =3x10* Pa, V, = 2x107 m’, P =8x10*
Paand V_ = 5x 10m~ m’

P <N B

+77C

A

C
In the process AB and BC, 600 J, and 200 J of
heat is added to the system respectively. The
change in the internal energy of the system in the
process AC would be
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A) 5607

B) 650 J
C) 5301
D) 590 J
P
17(:
A

N
7

C

P,=3x10%Pa, V, = 2x107* m? P, =8x10* Pa LDMMILD

V. =5x10m=m’ WwHULSEHLET  Qeulill
QusEau6 IB1&LD6)| & 61T UL &56v
STLLLUUL (heTergl. AB Lnmmild BC mlaLpeadlev
600) wmMID 200) Qeulubd  WenmGul
emllLer GFIHGHELILGSIMS!, e6T6vflev
AC misweller giemwlilled gouUdLld <5
SMOM6V LMTMILIM(H

A) 5607
B) 650 ]
C) 5301
D) 590 J

4. In an isothermal process the volume of an
ideal gas 1s halved. One Can Say that

A) internal energy of the System decreases
B) Work done by the gas is positive
C) Work done by the gas is negative

D) Internal energy of the system increases.

QauliLmlemey MMM Bl&D6|  speTnley,
BeLVEOILIGUL]  6UMU]  6pedTMIEdT  LICHLOGDT
LTRSS GenmasLILGIT M eTevfl6v,

A) SIeDLILN6T 38 MMV GeMHRMSI.

B) aumwyeume  QEwwlLGD  Geuemev

CHIGM 2 emL Wil

O eaumueumey  QeFwWwliL®mn  Gelemev
THTGN 2 LWl
D) &jemLoLiL9leor P LMMEY

B &F&EE M.

5. Three Samples of the same gas A, B and
C(?’ = %) have equal volume initially. Now

the Volume of each sample is doubled. For
A, the process is adiabatic, for B it is isobaric
and for c the process is isothermal. If the final
pressure are equal for all the three Samples,
the ratio of their initial pressure is

A) 2:1:\2
B) 2V2:1:2
C)N2:1:2
D) \2:2:1

@Gy eurmwelerr epeoTm WMHIflEGeT A, B
LDMHMILD C(?’ =%) Wmeorgl Q&ML G855 6V
FlL0 LI(HLOemeT Q& meoor(heTermeor. &MHELIMS

6261 IT(H S iflulleor LI(HLOS&DILD
@\(H DLBISTESILUGSHMS. GLosyILD
A QeuliuLglnmmmulleveurr Bl&LDeY,

B SiW&sL wrmm plespe wHoih C
QeulIUBlemev LOITMIT Bl&HLD6)| & LD. eLneiTml
THF&erfler @mM& (WSSO FL0LD 6Teoflev
UMM QST (5SS H T el &EIFHLD

A)2:1:2

B) 2\2:1:2

C)V2:1:2

D) \2:2:1

6. The fall in temperature of helium gas initially
at 20°C when it is suddenly expanded to 8

times its original volume is (7 = %)
A)70.25K
B) 71.25 K
C)72.25K

D) 73.25k
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QLTILUSH6L 20°C QeuliLmplemnevuiley 2 e6iem
anfedlld QUMTU SH6T QLTLDL LIHLO6DIE0T
L 8 LLMEE Hiearer aliflamsasliu@ D

GuUMal gMU@ LD Qeuliu eSh&H (7 =%)
A)70.25 K
B) 71.25K
C)72.25K
D) 73.25k

7. In a heat engine, the temperature of the source
and sink are 500 K and 375 K. If the engine
consumes 25 x 10° J per cycle, the work done
per cycle is the

A)6.25x10°]

B) 3 x 10°]

C)2.19x10°)

D)4 x 10*]
Qeulil QWBHH T seTMleT Qeulill epneuLDd
LHMID Qeulil gmliuller GeuliLbleney

WemmGW 500 K wmmib 375 K Q@&Lb.
RO FHNES SbH QWBHETWD 25 x 10°)

QLMHMEM6Y QFevailL_L ey, AL
FMHMIGHGLD QFWWLILGLWD Calemev
A)6.25x10°]
B)3x10°]
C)2.19x10°J
D)4 x 10*]

8. A Carnot engine takes 900 kcal of heat from
a reservoir at 723°C and exhausts to a sink at
30°C. The work done by the engine is

A)2.73 x 10 cal
B)3.73 x 10 cal
C) 6.27 x10° cal

D) 3.73 x 10 cal

&(IH &M G60TT @ UWIBHEH T 900 B CeviT &Gevif]
QauliLgemns 723°C QeuliLiplemevuiley 2 e6rer
CHHAWINIMBHE QUOHMISGQSHTeT(H  30°C
QeuliLl mlemevulaveTem Qeulill gMLSGG

QUPEIGHDS  aaflld  QUBHTSSTE
QFWWLLLL Geuemev

A)2.73 x 10 cal
B) 3.73 x 10 cal
C) 6.27 x10° cal
D) 3.73 x 10 cal

9. A diatomic gas which has initial Volume of
10 litre is isothermically Compressed to 1/15®
of its original volume where initial pressure is
10° Pascal. If temperature is 27°C then find the
work done by the gas.

A)-2.70 x 10%]
B)2.70 x 10° J
C)-1.35x 1037
D) 1.35x113]

QBMLGSHL L@Wer 10 LI LmHmIDd
QBMLES WSSO 10° LITENVH6 2 60)L I
(H I QUMW AIMTETS FH60T QST HSEH
LIgpLn6oflev 1/15 LOLMIE QeullLBlemey OMmIT

SWSF5HDS 2 LUGSSLULGS DS
QauliLplemey  27°C  eteoflev  aumuedleormey
QEFWWLILIL L Geuemev

A)-2.70 x 10° ]
B)2.70 x 10°J
C)-1.35x 103 7J
D) 1.35x 1137J

10. 1 mole of an ideal gas expands isothermally
so that its pressure falls from 1.0 x 10° Pa
to 0.5 x 10° Pa. The change in entropy of the

gas is equal to
A)0 B) 0.693 ]

C) 5.76 J/k D) 1.675 J/k
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@ GLOMeL HLENUWIEVL] UL QeULILIBlemev
orom  aflfleuemLwjd GUTEH 56T
QWSS 1.0 x 10° LM &eNedBHS! 0.5 x 105
LITe&HeVMs  eflpddF e HmE  ereoflev
b eurujeller ereorl_CrmLilulev gmL(BILD
LOMMHMLD 6THME& FLOLDTEOTSI.

A)0 B)0.693 ]

C)5.76 J/k D) 1.675 J/k

11. When an ideal monoatomic gas is heated at
constant pressure, fraction of the heat energy
supplied which increases the internal energy

of gas is
A)2/5 B) 3/5
C) 377 D) 3/7

QU [BELEOIWIEL| 6UMU| E&60TMI  LOMMT
AWHHHHL QeLLLILOSSID  CUTSI,
amwelledr 98 wHmene  AD&HSeE
QEFWIWLD QeI 25MMed6T 6(H LIGHS

A)2/5 B)3/5
C) 3/7 D) 3/7

12. Water falls from a height 500m. The rise
in temperature of water at bottom, if whole

energy remains in water will be (specific heat
of water is C = 4.2 kJ /kg)

A) 0.23°C

B) 116°C

C) 0.96°C

D) 1.02°C
500 WSULT 2 WrsHe(mhba  5evoreoot
ANWH M. Hevorerol] STl QFHTHID
QUTWS  QUMSEH  BOOID  BS
Geooteool 6L @UBHSHMTV  AH6T  QeuLliL
Blemevuilet goHU@GLD 2 wije| (Bifler geor
QeuliLl gL ST medt C = 4.2 kJ /kg)

A) 0.23°C

B) 116°C

C) 0.96°C

D) 1.02°C

13. A thermodynamic system is taken from state
A to B along ACB and is brought back to
A along BDA as shown in PV diagram, the
net work done during the completes cycle is
given by the area

P/\

>
oe]
<V

A)P ACBPP,
B) ACBDA

C)ACBB A A
D) ADBB A A

Qe @ sal U6 3iemLDLIL| 626TMI [Bl6t6y
A - Wl BHE B-&@& ACB auldluins eT(h &S5
QFVLLILIL(  H@WL PV auemIULSH 6V
2 eTemaummi A-&@& BDA aullwins eSS
QEFLLILIG&EMSI, ereflev @M LW
FOMIGSG QEWWlULL BlaT Gealemey,
Q&MH&HSHLILIL L 6TH S LY eor ey
GOILL U@ L.

P A

WV

A)P ACBPP,
B) ACBDA

C) ACBB A A
D) ADBB A A

14. A 500ml sealed cylinder contains nitrogen at a
pressure of 1 atm. A tiny glass tube lies at the
bottom of the cylinder. Its volume is 0.50ml
and it contains hydrogen at a Pressure of 4.5
atm. The glass tube is broken so that hydrogen
also fills the cylinder The new pressure in the
cylinder is (1 atm = 1 x 10° Nm™)
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A) 76.34 cm Hg
B) 82.40 cm Hg
C) 94.24 cm Hg

D) 104.34 cm Hg

500 ml €Ll L 2 (pemeruiley 2 66
MBLIReofledl W HSWD 1 atm WODMMID 4.5
atm QWSHSHLD Q&MeroTL. emamL_Fer 0.5 ml
H60T jeTaemL W WSFRMIU &5 600T600T TS
GLPMUI 9601 2 (Hem e Ul 6T 919 L1LIGH ullev
UGS LILIL (D6TETSI.  FH600T6O0TITI]  GLPITUI
2 LGS DR LT 82607 9 _(HEM 66D L
BITLIL& M eTevflev 2_Hememuile 2 (Heum&Ld
L&l WSSO (1 atm = 1 x 105 Nm2)

A) 76.34 cm Hg
B) 82.40 cm Hg
C) 94.24 cm Hg
D) 104.34 cm Hg

15. Unit mass of a liquid with volume V. is
completely changed into gas of volume V, at
constant external pressure P and temperature
T If the latent heat of evaporation for the
given mass is L, then the increase in the
internal energy of the system is,

A)0

B)L

C)P(V,-V)

D)L- P(V,-V)
LIMIsS  Qelefl QWSHSWLD P WMHMID

QeuliLplemev T -@)6L &H6oT 366y V, 2 6iTarT
QRI6VS Blen MWL W S FeULD (NHEUSILDTEY,
&60T 6T 6ITEIT GUITU|eUTE LDMHMLUILIGS MS!.
L ereoTUs Q&MHGSUULL  Blemmulesr
2NWMH06T 2 6TEhemMm QeullLID 6Teotl6y
ML & QLMHMEL 2_UIT6) 6T6OT60T?

A)0
B)L
C)P(V,- V)

D)L— P(V,-V)

| CHEMISTRY Q.No. 16 to 30

16. Propane can be best prepared by

A) CH,~CH,—Br + CH,Br + NaEt,0

H,0

B) CHS—CHZ—COONa + CHSCOONa Electroysis
C) CHg'CHz_Cl + (CHS)Z Cula =
D) CH,~CH,~CH,~COONa + NaOH — %%

HermlGuetr &8 WW&EF Fmliuns suWmfl&éHs
2 _5a6]|lD allemeor

A) CH,~CH,~Br + CH,Br + NaEt,0

B) CH,~CH,~COONa + CH,COONa — -

Electroysis
C) CH,-CH,~Cl + (CH,), CuLi —>

D) CH,~CH,~CH,-COONa + NaOH —*—

Heat
17. The decreasing order of boiling point is
I. CH,—CH,~CH,-CH,—CH,
II. CH— CH,~ CH- CH,~ CH,

|
CH

3

III. CH,- CH- CH- CH,
CH, Ci,
A)HI>1I>1
B)I>11>1II
O II>II>1
D)II>1>1II

Q&TH BlemevemUILl
alflens

QUTMISSE  @MHIG

I. CH,~CH,~CH,~CH,~CH,

II. CH,— CH,- CH- CH,~ CH,
|
CH

3

1. CH,~ CH- CH- CH,
|
CH, CH,
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A) > 11> 1
B)I>11> 111
C)II>11>1
D)II>1> 11

18. The reagent used for the conversion of

(')
heptane ———> 2, 4 — dimethyl pentane
is

A) AICI, + HCI

B) H,/Ni

C) H,80,

D) CH,MgBr
QamLIGLefleSmH Sl 2,3-60LQIDEH 6V
QUIETITGL 6T b8 LTHM 2.5l elleners
&HITJ600r ]

A) AICI, + HCI

B) H,/Ni

Q) H,50,

D) CH,MgBr

19. Methane on heating with oxygen in the
presence of Molybdenum trioxide gives

A) CH,OH

B) HCOOH

C) HCHO

D) CH, = CH,
55 CHemeT  LOMEOILIG60TID  LemIy&6merv(h
(Wetevflemeuuiley & 6eremetss 685 mesor(h)
QauliLliL(G&SSID CUTE HenL LG

A) CH,OH

B) HCOOH

C) HCHO

D) CH, = CH,

20. Which of the following is the final product of
the below reaction?

H,C_ _ CH=CH,

<&

CH,
CH,
A)
CH,
o
CH,
H
o
CH,
CH,
D)

B&soL CalFallemeruisd @mISWITS
Sevr_LILIGI?

H,0*
N

H,C_ CH=CH,

<&

CH,
CH,
A)
CH,
W
CH,
H
OO
CH,
CH,
D)

21. Isomers of hexane, based on their brunching
can be divided into three distinct classes as
shown in the figure.

I |:>—< and\(\:l
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The correct order of their boiling point is
A)I>11>11
B)III>1>1
OlI>1>1
D)III>1>11

G LD 55 600TL QsMG L6 o _eiTer

Qam & Caeofleor LTOHOWBISET  860T
&) 606115 61T | 60T 6TGOOT 6001 | &5 60) 85 60) LLIL I

QUTMISSE IHT Q&HTHBlemev aulflens
LN 6dT6U (HLOMm)

I|: P and\\f“{]
11[:/J\/«\and/\TA{]
IHI: \\\//\\V//\\:]

A)I>11>11
B) I >11>1
C)II>11>1
D)II>1>11

22. The trams — alkenes are formed by the
reduction of alkynes with

A)H,-Pd /¢, BaSO,
B) NaBH,
C) Na/ Liq.NH,
D) Sn - HCI
3| 6V60)5560T860) 6T

24,60 5\ 60T 5 60 61T
LiweTLI(heugl

20 &5
QuUMILD

LQ. [T IT60T6N
wenmuilev

A) H,-Pd / ¢, BaSO,

B) NaBH,

() Na / Ligq.NH,
D) Sn - HCI

23. Propyne and Propene can be distinguished
by

A) Con.H,SO,
B) Br, in CCl,
C) dil. KMnO,
D) AgNO, in Ammonia

LUepmlenuer wmmib  Lepmiifer &
CaumUB 53 nlw LiweTUmeus!

A) SIL1J H,SO,

B) Br, in CCl,

B) B7&& KMnO,
D)oibGLomesflwimele 2 6iTem AgNO,

24. Which of the following will decolorize
alkaline KMnO,

A) C,H,
B) CH,
C) CCl,
D) C H,

61085 85600T LU M MIET 618! STIMISHEVHSH KMnO,
o BINWINESF QFUIRMS?

A) CH,
B) CH,
C) CCl,
D) CH,

25. The reagent (s) for the following conversion

p / //Br — > H=His / are
Br |
A) Alcoholic KOH

B) Alcoholic KOH Followed by NaNH,
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C) Aqueous KOH Followed by NaNH,

D) Zn/CH,OH
G LD 55 600TL aflemeoTuldleL LiwledsT (B
61 60 60T & &5 [T [J 6001 | &5 6T
N/ Br—sH=H
Br

A) QLVHAMITEV H6VIHSH KOH

B) QL,VHMMEL &HVHEH KOH QFHTLIHSI
NaNH,

C) HBrmMlw KOH &8 Q& mLIB& NaNH,
D) Zn/CH,OH
26. Acidic hydrogen is present in
A) Ethyne
B) Ethene
C) Benzene
D) Ethane
Iblev emaML_JR6T SmeooTLiL@eus .
A) T & 60) & 60T
B) rF & G601
C) QuetTE 60T
D) iF & G & 60T

27. Cyclohexene is best prepared from Cyclo
hexanol by which of the following

A) Con. H,PO,
B) Con. HC1/ ZnCl,
C) Con. HCI

D) Con. HBr
MFHCTTAaM&HFTTeNHHSI F&HG6TT
Qam&&er TmbHs (Wenmuillsdy SWMlHeLl
LiweTUGBILD ellemeotss & reoot]

A) SILIJ H,PO,

B) @4L_[j HCl / ZnCl,

C) QL[ HCI

D) &|L_I[J HBr

28.In the compound //\/\E H the

C, — C, bond is of the type
A) SP— SP?
B) SP? — SP3
C) SP-SP?
D) SP? — Sp?

//\/\EH o drem C, - C, NemeworLiLiey
2 _6IT6IT @) 60T&H &6V

A) SP - SP?
B) SP? — SP*
C) SP - SP*

D) SP? — SP?

29. The compound 1, 2-butadiene has
A) Only SP hybridised carbon atoms
B) only SP? hybridised carbon atoms
C) Both SP and SP? — hybridised carbon atoms

D) SP, SP? and SP? hybridised carbon atoms

1.2 - Yyl LrmemLufer sifllng CFiLng s ev
2 _6TeTS.

A)SP - @6TES5LILN6D 2 6TeT  SIT LG0T
9|60 &H 6T DL (HLD

B) SP2 — @\eoT&&6VLILN60 2 66 ST LIGT
960018 &6T L0L_(hLD

CQ)SP mmild SP?2 @erd&euliLley 2 6Tem
ST LIGOT 260018867

D) SP, SP? LnMmmilh SP? @ eT&&H6eVL1LN60 2_6iTarT
SITITLIGT 60085 6T
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30. Which of the following compounds will
exhibit geometrical isomerism?

A) 1-Phenyl-2-butene
B) 3-phenyl -1-butene
C) 2-phenyl -1-butene
D) 1, 1-diphenyl -1-propane

GLpE&HeTLaIMMIET  FGHFFLOLD
rHMwgens QeusflliLBSSIN?

QL6

A) 1-Lemeorev — 2- LWyl 1e60T
B) 3-LYemeorev 1- LWyl 1 60T
Q) 2-9emeoteL —1- LWL 1@ 60T

D) 1,1-emLLfemeorev —1-LGFITLIGLIET

MATHS Q.No. 31 to 45

sin X

31.fm=
A)v/3+2cosx +c
B) —/3+2cosx +¢
C)/3+2sinx +c
D) —V3+2sinx +c

/ sinx  _

V3 +2cos x
A)v/3+2cosx +c
B) —/3+2cosx +c¢
C)/3+2sinx +c
D) —V3+2sinx +c

cos’x

32. fsm +s1nx

A) log|cos x|—sin x+c

B) log|cos x|-cos x+c

C) log|sin x|-sin x+c¢

D) log|sin x|+sin x+c

3
cos’x
/—. . dx =

sin”+sin x

A) log|cos x|—sin x+c
B) log|cos x|-cos x+c
C) log|sin x|-sin x+c

D) log|sin x|+sin x+c¢

Br [ iy = Alog| 5L |+ B BeR
then A is
AyA=1
B) -1
C)A=—t
D) A=5—

dx i x"+1 .
A-60T OB

1
A)A=5

B) -1

c)a==1

n

1
D) AZE

f(x)

34. In the integral f IOX# dx = +c¢ where

f(e) = -3 and c is the constant of integration,

then the value of f(e?) is equal to
A)3 B) 4

C) -5 D)5
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logx .,
f x* dx = 4x*

fle) = -3 MMID ¢ eTeTLg gGHSBID 62(IH
Lommled) ereoflev f(e?) - 60T LOGLIL]

f(x)

+c et Q&HTem&UTLIq6V

A)3 B) 4

D)5

C) -5
sin®x — cos®x
33. f 1—2sin’x cos’x
an arbitrary constant)

dx is equal to (Where c 1s

A) %sin2x+c
-1 .

B) 5 -sin2x+c

C) “Leinx+ec

D) —sin’x+c

: 8 8
sin®x — cos®x . . )
- dx—e0T
1 — 2sin’x cos’x LEIUY (@BIG

6TEOT LIS SetTevfl&Fena Lomnledl)

A) %sin2x+c
-1 .
B) TSIHZX‘FC

mnx+c

C) 5

D) —sin’x+c
36. [ (5
(xt1

yer (X2

X
X

= o=

37. Let I, = ftan“xdx(n > 1), If I+ =a tan’x +
bx’+ ¢ where C is a constant of integration,
then the ordered pair (a, b) is equal to

&) (551

B) (5.0)

In=ftan“xdx(n> D wooin I+I=a tan’x
+ bx’+ ¢ (@M@ C ereorg MMl6d) eT6vflev
aliflens G LY. (a, b) 60T LDSILIL

A{5)

B) (5.)

o (5-1)
(

D) (-0)

o=

cn|>—t

38.Let f(x)= [e'(x—1(x-2)dx then f(x)
decreases in the intervel
A) (-0, -2) B) (-2, -1)

0 1,2) D) (2, )
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f(x) = fe"(x— D(x—2)dx eTedTm) QFHTeN&HEHG
6Hs @ emLGeueflulev

f(x) GLpoevoTL
@ MMEIGLD FTFUMTES 3 emLOU|LD
A) (-, =2) B) (-2, -1)

) (1,2) D) (2, )

39. X'~ 1 dx is equal to
fx3\/x4—2x2+1 X 15 o4qu

A) §+c

1
2x*

B) — +c

) 21—X+c

D) — 5 +c

-1 . : .
ele0TLU& 60T LOGIL

21342 te

A)

B) —ger+c

1
O ox +c
1
D) — 9x T ¢
40. f(x")"(leogex +x)dx is equal to
A) x®+¢
B) (x¥)'+ ¢
C) x’log x+ ¢
D) None of these
f(x")" (2xlog.x + x)dx=

A) x¢ + ¢

B) () + c

11

Q) x¥log_x + ¢

D) ers16L0l6L 66V

41.If fxze%dx=[axze%—ﬁxe%+ye%]+C

then the value of o + 3 +y is

A) 12

B) 10

C) 16

D) 8
foe%dx=[ax2e%—8xe%+7e%]+0
o+ B +y eTeoTLIS 60T LOHLIL

A)12

B) 10

C) 16

D)8

1
42. f PR3 sk dx equal to
o
Jre

(¢

o

A) %log tan(% +

B) %log tan(

DO
ol

S~———
+

C) log tan(% + %

~——

D) %bg tan(%—% +c

f 1 dx
cos X + /3 sinx

1
A) 5 log tan(% + %) +c

)+c

C) log tan(% + %) +c

B) %log tan(% -

ol

D) %log tan(% - %) +c
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e’ .
43, f G+ +1) dx is equal to

A) log<g:i%>+c

B) log<ex+2)+c

e*+1

44, f(sin(lle).sin?)dx is equal to

sin(100x)(sin x )M

cos(100x)(sin x)'™
100 +C

B)

)100

Q) cos(lOleo)(()cos )™ L o

D) — cos(lOleo)(()cos )™ . C

f (sin(101x).siny’)dx

sin(100x)(sin x '
100 +C

A)

)100

B) cos(lOOfB)(()sm )" Lo

) cos(lOleo)(()cos x )0 +C

D) — COS(lOOIXO)(()COS )" . C

12

Lxf-Liefsc  ame %

45. Fora,P,y, eNiff <(§>2 + <%>2x)-10ge xdx =

LT - ) 0 e o=t

n=0

C is constant of integration, then o + 2 + 3y
- 49 is equal to

A) 4
B) -4
C) -8

D)1

@B v 8 EN &S f((%)zx+<%>2x>.loge xdx =

a\e

4

GLaLb C eteorigl Lmmled) eteoflev o + 2B + 3y
— 43-60T LDHILIL]

X

A) 4
B) -4
C) -8

D) 1
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